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101 @124 4| 119,213 114,581 4,632
pJ 29,204
[= 3,118
= 86,891
04 J|I2ZtRI2R2IEE 2 119,213 114,581 4,632
OZSXHEH 2 2 e 119,213
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FA: 2HS
g 34H BS54
ol Had 2554 (et 7
_ _ _ SN E N
FA R CA(EA) - NFAY - BYES Oll & <4 Of| At ot HlusZ
—=20 62,936
8 1,416,780 « 2% » 128 34,003
pJ 8,422
= 25,581
=l 1,205,5208 « 2% = 1228 28,933
pJ 7,149
= 21,784
=g 10,503
- EE 1,419,780 * 28 * 2.0 5,680
pJ 1,404
= 4,276
=l 1,205,5202 * 28 * 2.0 4,823
pJ 1,192
= 3,631
—JHAIXI 2 bl 13,112
=k 1,416,780 * 2%« 2.5 7,084
pJ 1,755
o 5,329
=l 1,205,5208 * 2& * 2.5 6,028
pJ 1,489
= 4,539
—HE S0t 5,246
- 83 1,416,780 * 2& * 1.0 2,834
pJ 702
= 2,132
=L 1,205,5202 * 28 * 1.0 2,412
Il 596
= 1,816
—GO2 4 2,623
-8F 1,416,780 « 1/30 * 15¢ * 29 1,417
pJ 334
= 1,083
-E8® 1,205,508 « 1/30 * 15 * 29 1,206
pJ 298
o 908
—Z}22+d 7,093
- 83 7,991% » 298 * 20AI2t 128 3,836
pJ 855
L= 1,569
= 1,422
=L 6,784% » 298 « 20AI2t  12& 3,257
pJ 620
< 1,559
= 1,078
—wS2 x4l 6,000
- 8% 130,000& = 2& * 123 3,120
pJ 796
= 2,324
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SN 23
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ok

SN CR(EH) - NRAY - BES ]

z
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=1
R
121
==
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i
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- B 120,000& = 29 « 128 2,880
735
2,145
AlH| 4,800
100,000& = 2& = 128 2,400

612
1,788
100,000& = 2& = 128 2,400
612
1,788
4,100,000& 4,100
995
3,105
QALESE S 2,800,000 2,800
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201 L2 20,200 18,448 1,752
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11,793

S

Mo

01 AtR2tel 17,200 15,448 1,752
& =l 15,200
2357 5,000,000& 5,000
1,000
1,143
2,857
—deld AKX Y 5,000, 000& 5,000
1,000
907
3,093
—E22 S A 4,000,000& 4,000
855
859
2,286

H Y HHnY

S

Ml H1

1,000& = 100& = 128 1,200
500
700
=4 2,000

—SENEMHM=ERE= HE+=E
100,000& * 209 * 13 2,000

571
286
1,143

3,000 3,000 0
3,000
3,000,000& 3,000

857
429

H S
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o
o
0K
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0K OB
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A 2SHSL
HHM: HAd 2584
ol BAW 254 (el:@g
% ~ o HEC =
SN -3H - S2A(2AH) - NRAY - BE= Ofl &4 Ofl At ot HusZ
= 1,714
307 21Z2tol & 9,000 9,000 0
Jl 2,571
< 1,286
= 5,143
02 QI2tFAExX 9,000 9,000 0
OFa~H SYANALH ALK
3,000,000 * 32 9,000
p) 2,571
= 1,286
= 5,143
405 XtHakF SH 4,700 2,000 2,700
Jl 1,071
= 286
= 3,343
01 A&t = SF SHI 2,700 0 2,700
OFALHSENZUE NRES 2,700
== 600,000& + 104 600
— S A It 1,500,000& = 1CH 1,500
Il 500
= 1,000
—CIXIE Jtoilct 600,000& = 1CH 600
02 &M+ 2,000 2,000 0
OAZELAESSHXNEMM 28 TA7E
2,000,000& 2,000
Il 571
S 286
= 1,143
HA44d AEsd 166,000 108,000 58,000
201 24| 10,000 10,000 0
03 HAH2 & H] 10,000 10,000 0
OFAE 220 23 Ht22elJl At
10,000,000 10,000
203 R =2 500 500 0
03 Al =& 2= &l 500 500 0
OMsdEad s 100,000& = 53 500
301 det2a=s 2,000 2,000 0
10 BAAHIEA S 1,000 1,000 0
OdA & WFEALA A2
200,000& = 52l 1,000
12 JIEt24 = 1,000 1,000 0
OFAY Rolga dN243 100,000+ 102! 1,000
307 212tol & 45,000 45,000 0
04 QIZHHALE X 45,000 45,000 0

_29_




M Z3M=sH
X

M. HAHE BsRY
ool HAW 2584 (el @@
_ _ NE
2N -3 - c2(3H) - NEME - HES 01l A+oH @ﬁou HusZ
OHM133 g HAGESOY S
25,000,000 25,000
OFAH BlHZE 2= 10,000,000 10,000
O"1388"dAE 20t 10,000,000 10,000
401 AlEHIZ 2] 86,000 34,400 51,600
01 A& H] 86,000 34,400 51,600
OHEEHAH 25918 24 30,000,000 30,000
OgutdEAHE 2328 2 30,000,000 30,000
OGuFAEAZSICE 0124 2X 0ol
305,880 % 85m 26,000
405 KHaHE SH 22,500 16, 100 6,400
01 ML SEFSHI 22,500 16, 100 6,400
Oodddaa~d Z32d HIE ¢ 9,500
—noteg 5,000,0002 5,000
—2AI7Y 4,500,0008 * 1CH 4,500
Ogutaad 232 & HFH ¢
1,300,000 = 10CH 13,000
@AY 2S 0t3tdI0l 176,600 146,748 29,852
= 78,953
[ 39,477
= 58,170
307 8I2t01 & 176,600 146,748 29,852
= 78,953
[ 39,477
- 58,170
05 QIZtRAE 2 176,600 0 176,600
OF AUt 0F3L0I0| 176,600,000 176,600
= 78,953
[ 39,477
= 58, 170
HAURSIOE E29H X 227,940 199,500 28,440
307 QI2+0I A 227,940 199,500 28,440
05 QIR EH S 227,940 199,500 28,440
OFLUEERSE AE29Hl XA 227,940
— 39 dALAEESCE 121,220,000 121,220
—GAMEHAHSEOE 106,720,000 106,720
FUTZ 2N L 2435 X 12,000 14,000 A2,000
= 6,000
= 6,000
307 2I12+01 & 12,000 14,000 A2,000
= 6,000
= 6,000
02 QI2tAFAEX 12,000 14,000 A2,000
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PN 23MSH
HHM: HAd 2584
&t Ead Es=4 (el &)
X LH -
M-8 SRI(310) - MRAY - BeS sl e HlRE2
O33FALAESEALE T2 )SH2Y
6,000,000 » 20424 12,000
= 6,000
= 6,000
HAE=EALE NSA X& 38,880 38,880 0
= 19,440
i 19,440
307 2I2toI ™ 38,880 38,880 0
= 19,440
= 19,440
02 QItF A2 X 38,880 38,880 0
O3 HU=HAE XX X
38,880,000& 38,880
= 19,440
= 19,440
FAH ZRY 24 20,000 40,000 220,000
307 21Ztol 20,000 40,000 220,000
02 glztH a8 x 20,000 40,000 A 20,000
OFAEBRY2Y K&
20,000,000& * 1JH= 20,000
Had B85 LU A% 17,800 17,800 0
= 1,220
= 16,580
301 et2 a3 17,800 17,800 0
L= 1,220
i 16,580
10 HAIAHIE &3 17,800 17,800 0
O&EAE d&gsHl NE 2,400,000& 2,400
& 720
= 1,680
OFAHE Roistadcs 23|
100,000& * 145H 1,400
= 500
= 900
Ogd FA28XNERARY 329 A 834l X2
1,000,000& * 145H 14,000
28 ISP Z208 29 54,328 50,000 4,328
Il 21,081
& 10,541
i 22,706
101 21 24H| 52,328 43,848 8,480
Il 20,081
= 10,541
= 21,706
04 JI1ZtH22HSE+ 52,328 43,848 8,480
O&LH 1,700,000& » 1H = 123 20,400
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CEE (S - MRAY - HAS
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648,000
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EURY

Al 130,000& = 1& =123
il 50,000& » 3% = 128
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4,342
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9,100
2,000
1,000
1,000
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259
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3,360
1,560
1,800
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H S
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1,000
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2,000

,000,000&

S

M

2,000
2,000

2,000

1,000
1,000

2,000

Ml 1

4,000

2,000
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4,000

307 212+01 ™

U
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N
e
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e

O
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,000,000&

U

4,000

4,000

2,000
2,000

4,000

Jon

£
J
Ju
0z
0Q
>
M0
02

EURCH

6,520

3,260
3,260

6,520

101 el 24l

EURCH

6,520

3,260
3,260

6,520

— QI A 700,000& = 1& = 93

Mk

6,520
6,520

6,300

3,150
3,150

6,520
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M Z3M=sH
X

HHM: HAd 2584
ol BAW 254 (el:@g
_ _ _ MEc
SN -3H - S2A(2AH) - NRAY - BE= Ofl &4 Ofl At ot HusZ
—&HES JtgHl S 24,4408 » 1H » 92 220
= 110
o 110
F2EFOMREE 29 3,000 0 3,000
p) 1,500
= 1,500
201 eS| 3,000 0 3,000
) 1,500
= 1,500
01 AtR 22l 3,000 0 3,000
Oget==tl 1,500
—ANRES 7Y 1,000,000 1,000
Il 500
= 500
—S2= s MH 500,000 500
Il 250
= 250
o=2g+¢ 1,500
—HEZFL2ABARRSE 3o+
1,500,000& 1,500
Il 750
= 750
HY2LZHI(2 M=) 40,176 36,440 3,736
A2 HEHI (2SI ) 2,520 2,520 0
2 (2SS ) 2,520 2,520 0
204 A=A 2,520 2,520 0
02 A g2 &4 2,520 2,520 0
OzaZz(u22) 105,000& = 28 » 128 2,520
Jl2ZHI(23tHs1) 37,656 33,920 3,736
Jl=2ZHI(23 =) 37,656 33,920 3,736
201 B2 21,456 18,020 3,436
01 AtR2tel 21,456 18,020 3,436
Ogt=2H| 7,200,000& 7,200
O=etl 6,0008 = 188 » 11& » 123 14,256
202 O4Hl 10,800 10,200 600
01 2O 10,800 10,200 600
OJl2gR=d 50,000& = 18& = 12& 10,800
203 ¥Rl 4,200 4,200 0
04 FEAEESZRFAH 4,200 4,200 0
ORNzEgR2FaYl 350,000& = 12& 4,200
204 M R~HAH| 1,200 1,200 0
01 Mg L2+ I 1,200 1,200 0
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